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AP Micro Units I & II Review
Read each of the following questions carefully. There may be more than one possible answer.  Choose the best answer.
1. The crucial problem of economics is

A. Establishing a fair tax system.

B. Providing social goods and services

C. Developing a price mechanism that reflects the relative scarcities of products and resources.

D. Allocating scarce productive resources to satisfy wants

E. Enacting a set of laws that protects resources from overuse.

2. When one decision is made, the next best alternative not selected is called

A. economic resources



B. opportunity cost

C. scarcity

D. comparative disadvantage

E. production

5. Which of the following goods would be considered scarce?

I.  Education

II.  Money

III.  Time

6. Define Normative Statements:  _______________________________________________________
___________________________________________________________________________________

Define Positive Statements:  ____________________________________________________________

____________________________________________________________________________________
7. In which way does a straight-line production possibilities curve differ from a concave production possibilities curve?

A. A straight-line production possibilities curve has a decreasing opportunity cost.
B. A straight-line production possibilities curve has a constant opportunity cost.
C. A straight-line production possibilities curve has an increasing opportunity cost.
D. A straight-line production possibilities curve does not show opportunity cos.t

E. Upward-sloping production possibilities curve.
8. The law of increasing opportunity cost is reflected in the shape of the 

A. Production possibilities curve concave to the origin (“bowed-out”)
B. Production possibilities curve convex to the origin (“bowed-in”)
C. Horizontal production possibilities curve

D. Straight-line production possibilities curve

E. Upward-sloping production possibilities curve
9. Which of the following would cause a leftward shift of the production possibilities curve?

A. An increase in unemployment

B. An increase in inflation

C. An increase in capital equipment

D. A decrease in consumer demand

E. A decrease in working-age population

10. Which of the following would cause a rightward shift in the production possibilities curve?

A. An increase in unemployment

B. An increase in inflation

C. An increase in capital equipment

D. A decrease in natural resources

E. A decrease in the number of workers
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16.  Working from the top center category and moving in a clockwise fashion, fill in the blanks, naming the four major categories of the Circular Flow Diagram. 
1. _______________________________
2. _______________________________
3. _______________________________
4. _______________________________
17.  You studied three hours for your AP Chemistry exam.  You decide that you should spend one more hour studying for the exam.  Which of the following is most likely true?  

A. The marginal benefit of the 4th hour is certainly less than the marginal cost of the 4th hour.
B. The marginal benefit of the 4th hour is at least as great as the marginal cost of the 4th hour.
C. Since we don’t know your opportunity cost of studying, we have no way of knowing whether or not your marginal benefits outweigh your marginal costs.
D. The marginal cost of the 3rd hour was likely greater than the marginal cost of the 4th hour.  
E. You were promised a vacation to Herb Froman’s Sausage World if you passed AP Chemistry.  
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18.  Economic growth is best presented by a movement from 
A. A to B 

B. B to C
C. C to D
D. A to E
E. E to A

19.  The shape of this Coffee / Chocolate PPF  tells us that 

A. economic resources are perfectly substitutable from production of coffee to chocolate production

B. citizens prefer that an equal amount of coffee and chocolate be produced
C. the opportunity cost of producing chocolate is constant along the curve
D. the opportunity cost of producing chocolate rises as more chocolate is produced
E. the opportunity cost of producing coffee falls as you produce more coffee

20.  Which of the following is not a factor of production?

A. Labor 

B. Entrepreneurial ability
C. Education
D. Capital
E. Land

21.  Which of the following will NOT move the Production Possibilities Curve outward?

A. Technological advancements

B. Improvements in resource quality
C. An increase in the minimum wage
D. The removal of trade barriers between countries
E. Increases in resource quantity
22.  An economy in which the government owns or at least controls the means of production is

A.  Traditional

B.  Free Enterprise

C.  Mixed


D.  Command
E.  Market

	Constant Opportunity Cost*
	Increasing Opportunity Cost*

	23.  Draw a graph reflecting Constant Opportunity Cost

Product A
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                                                                     Product B
	24.  Draw a graph reflecting Increasing Opportunity Cost.

Product Z

[image: image5.jpg]Price (dollars)

0 Quantity (units per year)




[image: image6.png]& Document1 - Microsoft Word B

Type aquestion for help 1+ | X
::R4

Fle Edt Vew Iwet Fomat ook Table Window Help

NS EHRIIB)TEIS B S 2, ] too% Tines New Raman

Marginal Marginal
Utility Utility

B (Movies) (Go Carts)

30 10

20 5

10 2

5 1

“«o

ipran- Lo | Auoshapes- N\ N IO Al 42 (@ | O - A
i 1

Ln 10 Col 1 ReC| TRk [ExT| OvR| | @

o)





                                                                       Product X




	Trade: Absolute and Comparative Advantage

	Sugar (tons)

Cars 

Haiti

40  
10

Dominican Republic

50

100

25. Which country has an absolute advantage in sugar?

26. Which country has an absolute advantage in cars?

27. What is Haiti’s opportunity cost for producing one car?

28. Which country has a comparative advantage in cars?

29. Which country has a comparative advantage in sugar?




	
	A
	B
	C
	D
	E

	Hats
	0
	1
	2
	3
	4

	Shoes
	30
	29
	25
	15
	0


Use the chart above to calculate the opportunity costs of the following movements on a Production Possibilities Curve.  

Calculate the Opportunity Cost:






31.  A→B:_______
(read as a movement from A to B)






32.  B→C:_______

33.  E→D:_______

34.  C→A:_______

Unit II

1. The relationship between quantity supplied and price is _____ and the relationship between quantity demanded and price is _____.


A)  direct, inverse    


B)  inverse, direct    


C)  inverse, inverse    


D)  direct, direct


E)  strong, weak 

2. An increase in the price of a product will reduce the quantity demanded for that 

product because: 


A)
supply curves are upsloping. 


B)
the higher price means purchasing power has risen. 


C)
consumers will substitute other products for the one whose price has risen. 


D)
consumers get increasing marginal utility for each new unit of a good they consume 

3. Which of the following will NOT cause the demand for video games to change? 


A) a change in the price of a close substitute 


B) a change in consumer incomes 


C) a change in the price of video games 


D) a change in consumer tastes


E) a change in consumer preferences 

4. An economist for a bicycle company predicts that a rise in consumer incomes will increase the demand for bicycles. This prediction assumes that: 


A)
there are many substitutes for bicycles. 


B)
there are many complementary goods for bicycles. 


C)
there are few goods that are substitutes for bicycles. 


D)
bicycles are normal goods. 


E)
bicycles are an inferior good

5. Which of the following statements is correct? 


A) A decline in the price of X will increase the demand for substitute product Y. 


B) A decrease in income will decrease the demand for an inferior good. 


C) An increase in income will decrease the demand for a normal good. 


D) An increase in the price of X will decrease the demand for complementary 



product Y. 

6. A leftward shift of a supply curve might be caused by: 


A)
an improvement in the relevant technique of production. 


B)
a decline in the prices of needed inputs (resources). 


C)
an increase in consumer incomes. 


D)
some firms leaving a market. 

7. Z is an inferior good, a decrease in income will shift the: 


A)
 supply curve for Z to the left. 




B)
 supply curve for Z to the right. 



C)
 demand curve for Z to the left. 


D)
 demand curve for Z to the right 


E) 
 there is no shift

8. Which of the following events will cause the demand curve for hamburgers to shift to the right? 


A) An increase in the price of hamburgers 


B) An increase in the price of pizza, a substitute for hamburgers


C) An increase in the price of French fries, a complement to burgers


D) A decrease in the number of hamburger consumers


E) A decrease in the cost of producing hamburgers 
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9. At an artificially imposed price of $20, there would be a SHORTAGE or SURPLUS of… 


A)
Shortage, 150


B) 
Surplus, 150 


C) 
Shortage, 200 

D) 
Surplus, 100


E) 
Shortage, 100
10. On the graph above, what would be the effect of a price floor at $60



A)
 It would ineffective


 


B) 
A shortage of 50


 


C) 
Quantity demanded would increase


D) 
A shortage of 100


E)
A surplus of 100
12. In which way does a straight-line production possibilities curve differ from a concave production possibilities curve?

F. A straight-line production possibilities curve has a decreasing opportunity cost.
G. A straight-line production possibilities curve has a constant opportunity cost.
H. A straight-line production possibilities curve has an increasing opportunity cost.
I. A straight-line production possibilities curve does not show opportunity cost

J. Upward-sloping production possibilities curve.
14.  Which statement is true?


A.  To have an effect, a price floor must be imposed at the equilibrium price.


B.  To have an effect, a price floor must be imposed above market equilibrium


C.  To have an effect, a price ceiling must be imposed above market equilibrium


D.  To have an effect, a price ceiling must be imposed on the supply curve


E.  A price ceiling imposed above the equilibrium price will have an effect on the market.  

15.  Other things equal, if the price of a key resource used to produce product X falls, the:


A)
product supply curve of X will shift to the right.


B)
product demand curve of X will shift to the right.


C)
product supply curve of X will shift to the left.


D)
product demand curve of X will shift to the left. 


E)
both the supply and demand of X will increase

16. Which of the following statements is correct? 


A)  If demand increases and supply decreases, equilibrium price will fall. 


B)  If the demand and the supply both fall at the same time, quantity will be indeterminate 


C)  If demand decreases and supply increases, equilibrium price will rise. 


D)  If supply increases and demand decreases, equilibrium price will fall. 


E)  If supply falls and demand remains constant, equilibrium price will fall. 

17. If Buyer’s Max=$300, Seller’s Min=$150, and Price=$350 then


A)
consumer’s surplus is 50




B)
consumer’s surplus is 100



C)
producer’s surplus is 200


D)
producer’s surplus is 50


E) 
there would be no exchange
18.  When will you stop consuming (ie. what’s the 1st pizza you DON’T eat)?  
	
	

	
	
	
	

	# of Slices 
	Total Utility
	Marginal Utility 
	Marginal 

	of Pizza
	in dollars
	(Benefit)
	Cost

	0
	0
	 
	$2 

	1
	8
	 A
	$2 

	2
	14
	 
	$2 

	3
	19
	B 
	$2 

	4
	23
	 
	$2 

	5
	25
	C 
	$2 

	6
	26
	D 
	$2 

	7
	26
	 
	$2 

	8
	24
	E 
	$2 

	
	
	
	

	
	


19.  The law of demand implies that, other things remaining the same,

A) as the price of a cheeseburger rises, the quantity of cheeseburgers demanded increases.

B) as the price of a cheeseburger rises, the quantity of cheeseburgers demanded decreases.

C) as income increases, the quantity of cheeseburgers demanded increases.

D) as the demand for cheeseburgers increases, the price of a cheeseburger falls.

E) as more people demand cheeseburgers, the quantity demanded increases.

20.  An increase in the quantity demanded is shown as a

A) movement along the demand curve.

B) movement toward the demand curve.

C) rightward shift of the demand curve.

D) leftward shift of the demand curve.

E) both a movement along the demand curve and a shift of the demand curve. 

21.  A demand curve 

A) has an upward slope.

B) has a downward slope.

C) is a graph of the relationship between quantity demanded of a good and its price.

D) Both answers B and C are correct. 

E) Both answers A and C are correct. 

22.  The price elasticity of demand is a measure of

A) the equilibrium price of a product.

B) buyers' responsiveness to changes in the price of a product.

C) the amount of a product purchased when income increases.

D) whether a product is a substitute or a complement.

E) how much a change in demand affects the equilibrium price.

24.  The price of lumber increased by 10 percent and the quantity supplied increased by 20 percent. The supply of lumber is 

A) inelastic. 


B) perfectly elastic.

C) perfectly inelastic.

D) unit elastic.

E) elastic.

25.  The price of beef increased by 20 percent and the quantity supplied increased by 10 percent. The supply of beef is 

A) elastic.


B) perfectly elastic.

C) perfectly inelastic.

D) inelastic. 

E) unit elastic.
26.  On the graph to the left, what is the total revenue at point A?
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A) $20

B) $150

C) $170

D) $3,000

E) 150 quantity units

27.  The graph to the right shows the supply curve for a good with a

A) perfectly elastic supply.

B) perfectly inelastic supply.

C) elastic supply.

D) inelastic supply.

E) unit elastic supply.

28.  Price FLOORS go _____________ equilibrium and result in a ______________.                    
Price CEILINGS go ____________ equilibrium and result in a _____________.  


A.  above, surplus, below, shortage


B.  below, surplus, above, shortage


C.  above, shortage, below, surplus


D.  above Abe Froman’s Sausage Factory


E.  below, shortage, above, surplus


F.  Really?


1.  You can choose any combination of two different activities, the movies ($10) or riding go carts ($5). 

If you only have $40, what combination maximizes your utility? 

2.  If demand increases AND supply increases, what happens to: 
P _______________________ 

Q_______________________

P 

                                                                 Q
This graph shows the demand for oil by US consumers, the supply of oil by United States producers, and the world price of oil.  

Use the labeling of the graph to answer the following questions.  

3.  Before International Trade Occurs:  Identify the price of oil in the United States market.  
_____________________________
4.  Before International Trade Occurs:  Quantity of oil produced in the United States.  

_________________________________________
5.  The United States begins importing oil at the world market price Pw.  How much oil is imported by the United States?  _________________________________

6.  Identify the Consumer Surplus, before International Trade:  _____________________

7.  Identify the Consumer Surplus, after International Trade:  ______________________

Using the graph to the right, identify the following:

After Tax

8.  Tax per unit:  ____________________

9.  CS after tax:  ____________________

10.  PS after tax: _____________________
11.  Dead weight loss: _________________
12.  Total tax revenue to govt:  ____________
13.  Total spending by buyers:  ___________
14.  Total revenue to sellers: _____________
15. Amount of tax buyer pay:  _____________
16. Amount of tax sellers pay:  ______________

For above, CS = Consumer Surplus, PS = Producer Surplus.  

AP Micro Unit I: Basic Economic Concepts

Practice Questions

Answers
1. D
2. B

3. B – not included on this review
4. A

5. All of them
6. Positive statements are those which can be tested by recourse to evidence (Notts County have won the FA Cup 5 times), whereas normative statements are those which cannot be tested by looking at evidence - they are opinions (Notts County are the best team in the world).
7. B
8. A
9. E
10. C
11. B

12. B
13. E
14. B
15. E
16. Resource Market, Households, Product Market, Businesses
17. B
18. D
19. D
20. C
21. C
22. D

See Power point for additional answers.  
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